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1.( ) To understand information systems, one must understand:
a.) the problems they are designed to solve.
b.) their architectural and design elements.
c.) organizational processes.
d.) aandb.
e) a,b,andc.
2.( ) Information systems literacy requires:
a.) technical knowledge about computers. _
b.) behavioral knowledge about organizations and individuals using information systems.
~ ¢.) financial and accounting excellent skills.
d.) aandb.
_ e) a,b,andc.
3.(- )  The technical approach to information systems includes:
a.) computer science.
'b.) operations research.
c.) management science.
d.) aandb.
_ e.) a,b,andc.
4. )  Networked information systems allow companies to:
a.) Do business with fewer employees.
b.) Cut management costs.
c.) Deal with financial information more securely.
d.) Maintain the security of proprietary information.
e.) Coordinate with other organizations across great distances.
5/( ) Knowledge-level systems:
a.) monitor the elementary activities and transactions of the organization.
b.) support knowledge and data workers in an organization.
c.) support the monitoring, controlling, decision-making and administrative activities of middle
management. '
d.) support long-range planning activities.
e.) support financial and resource planning activities.

6.( )  Which of following choice is not a web style language in dynamic:
a) PHP
b) JSP
c) ERP
d) ASP .
7.( ) The three activities in an information system that produce the information organizations use to control

operations are:

a) information retrieval, research, and analysis.
b) input, output, and feedback.

c) input, processing, and output.

d) data analysis, processing, and feedback
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8.( )  The three principal levels of hierarchies within a business organization are:
a) management, knowledge workers, and service workers.
b) senior management, middle management, and operational management.
¢) management, data workers, and operational management.
d) senior management, middle management, and service workers.
9.( ) Ahierarchy: .
a) is based on a clear-cut division of labor.
b) is composed primarily of experts trained for different functions.
c) is a pyramid structure or rising authority and responsibility.
d) all of the above.
10.( ) Converting raw data into a more meaningful form is called:
a) capturing.
b) processing.
c) organizing.
d) feedback.
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